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_Answer all the followmg questions. Each questlon cames 1 mark Follow the
_ lnstructlons glven in the brackets wherever needed :

The correct spelhng of the word ‘cataloge’ is |

The word that is the antonym of “deflate” IS

~ The pnsoner was s hand and foot. (use the correct form of ‘bind’)

is another word for ‘alleviate’.

is the noun form of lntend'

. Hearing the news of her husband's death she famt (Correct the sentence)

Al precautions must - , for the plague spread rapldly (Use the -
~correct form of the word neglect') _ -
'We must lock the doors, _________?(Use appropnate questlon tag)

I noticed that he. _' - of brandy (Use the correct tenseof smell)

P.T.O. )




- 10.

1.

12.

13.

14,

15.

v

Police are ____ connections between the two crimes. (Use the
appropriate phrasal verb) o ' : ‘

~ (a) looking up 7 ) (b). looking into
"(c) lookingout - (d) lookingat o
o : o D (10 x 1 =10 Marks) '

Answer any elghf of thei falloWing'questions. Each questiori' carries 2 marks.

‘Provide one-word subshtutes for any two of the phrases

(a) a critical phase: that some is passmg through.

(b) habit of spendmg money wastefully

(c) special right or advantage_ '
(d) W|thout dlscnm:natlon

Give the antonyms of two of the fo!lomng words

7 (@ Haughty . : (b) Lunacy
(c) Eager . o .
Make sentences of your own wnth any two of the followirig phras'al‘.v'erbs. >
(a) breakout. - (b) ran out of o '
~(c) blown over _' _ R (] givein

‘Choose the correct option from those glven in the brackets

| (a) He ‘ but no one had seen his mlssmg laptop (asked around /
asked for) e 7
(b) RﬂjIV was determuned to - up his old friend while in Jaipur. '
(look up Ilook at) o ' o

Fill in the blanks usmg a collectwe nom from t_hose gi\)en below.

(army, swarm, fleet, galaxy, jury)

(a) The mght sky ghmmered W|th a_ = of;stars.'

() A : of Iocusts attacked tha crop
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16.

17,
18.

19.

20.

21.

22.

23.

o

Fill in the blanks using the suitable degree of the adjectwe given in the brackets

(@) Mikis than any other food. (nounshlng)
(b) Radium is one of the _ metals (valuable)

- Correct the errors in the words glven in |taI|cs

(e) The electronic car is a welcome addltlon to the world of automoblles

(b) He suffers from cronic indigestion.

(a)' His clam to fame.was his participation in a TV show

(b) The small village Iacked basic faculties.

(a) You will not be the victim of superstition and demography in religion and-

politics if you possess knowledge.
(b) Before he could rich the snte of crime, the criminals had escaped

Fill in the' blanks with suitable words from those_ given in brackets.
(maddening, exercise, echoes, pulse) ‘

' Piccadilly Circus was full of loneliness. it seethes and _____ with it.

Looking down on it is a discomforting f . You can't feel the
of London here, though people expect to. To Londoners |t is a
obstructlon between one place and another : -

Choose the correct option from the brackets.

'_ (a} 1 told you that you ' wrong about her (waslwere)

(b) i make sure that | know the poem by tomorrow (shalll wm)

 Fill in the blanks with the appropriate word from the bracket.

(a) She takes the bus to work day. (early, many, every)

(b) We ate dinner and ‘ ~ we watched a film. (then, since, s0)

Use the correct tense of the verbin the hracke.t

(a) | _ - of going to Japan ({I-ﬁnk) .
(b) He - ill since last week. (is) '
3 - N-2286




24.

26,

Read the paragraphs and answer the questions given béldw: |

Erosion of America's farmland by wind and water has been a problem since -
settlers first put the prairies and grasslands under the plow in the

nineteenth century. By the 1930s, more than 282 million acres of farmland were
damaged by erosion. After 40 years of conservation efforts, soil erosion has
accelerated due to new demands placed on the land by heavy crop production.
In the years ahead, soil erosion and the pollution problems it causes are likely to
replace petroleum scarcity as the nation's most critical natural resource problem.

(a) What has hastened the process of soil erosion?

(b) What are the issues that are likely to replace petroleum écarci'ty as
America's critical Problem? _ : '

 Opera refers to a dramatic art form,.ioriginating-in Europe, in which the emotional

_content is conveyed to the audience as much through music, both vocal and
instrumental, as it is through the lyrics. By contrast, in musical theatre an actor's

. dramatic performance is primary, and the music plays a lesser role. The drama in - .

“opera is presented using the primary elements of theatre such as scenery,
costumes, and acting. However, the words of the opera, or libretto, are sung
rather than spoken. The singers are accompanied by a musical ensemble.

(a) How is Opera different from musical theatre?

(b) What are the elements used to convey/present drama in opera?
A stout old lady was walking with her basket down the middle of a street in
Petrograd to the great confusion of the traffic and with no small peril to herself. It’
was pointed out to her that the pavement was the place for pedestrians, but she
“replied: ‘I'm going to walk where | like. We've got liberty now'. It did not occur to
the dear old lady that if liberty entitied the pedestrian to walk down the middle of
the road, then the end of such liberty would be universal chaos. Everybody would
be getting in everybody else's way and nobody would get anywhere. Individual
liberty would have become social anarchy.. S

(a) Inthe authq'r‘-s_ opinion, what would unrestrained individual liberty result in?

(b) Identify a Woﬁ;l from the passage that means the following: a state of
disorder due to absence or non-recqgn_ition qf authority. '

(8 x 2 = 16 Marks)
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28.

. _up)

29.

30.

(a) How a terrible fire this sl

Answer any six of the follow_ing questions. Each question carries 4 marks.

Fill in the blanks with the correct optlon

(a) He. " therules. (ﬂauntediﬂouted)
(b) They _ L each other and so made excellent partners.
_ (complemented!compllmented) -
(©) He runs an _ business but has never been arested.
(elicit/illicit) - : i : : -
(q) He loved vusrtlng the : store (statloneryfstatlonary)

Fill i in the blanks with suitable phrases from those given in the brackets.

(dive into, break down, turn down, put out, believe in, look :nto check out cheer.

(@) twil_______thematter. |
~ (b). It's so loud here. Can you : the radio a Iittle?- _

(c) ' The firemen were able to - __the fire in Church Street.
- (d) Doyou A miracles? | -

Correct the errors in any four of the following sentences.

- (a) “Time and tide wait for no man. o
by Shane and Harry hés been friends since childhood. '
- (c} _He with hus brothers, plan to go for a movie. |

.(.efi.'):_'”Nethenands is a w:nd-swept country( .

(e) The violinist and palnter are dead

Correct the error in the sectlon in italics in any four of the fonowmg sentences

~ (b) So a piece of work is man!
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(c) Hesaid, "Alaé! You have aone well".

(d) That birthday cake was how good! -

(e) Soa coincidence this is! |
31 Fillin the blanks with sutable pronouns.

.

(a) The boys are riding __bikes B

(b) Let_____ help you carry these bags.

(c) Thatred dress is

(d) They will look after

| 32. Correct the error in the section in italics.
1‘ - : (a) Heis Iafe than | expected.
! ’*"*_ (b) After this he made no farther remarks.
| ~(¢) M. Smithis the eldest teacher in the school.
ﬂ 1 ' ' ' | (d) Solomon Qvaé one of fhe wiser men. |
33. ‘Fiii in the blanks with suitéble words from fhose inen in b_racke_ts_.

(inferences, range, " memorization, shaping, insecurity, thoughtful, - contrary,
culture) o , ST

to some people's view, the study of history is not the
— of names, dates, and places. It is the __
examination of the forces that have shaped the courses of human fife. We can
examine events from the past and then draw ‘about current
~events. Another benefit of the study of history is the ___of human
experience that is covered. National and international affairs are covered.
‘Matters of ' are also included in the historical study. Human
nature is an -important part of history: emotions like passion, greed, and
' _haveinfluenced the - of world affairs.

-
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35,

R grandeur. The wonders of this gigantic creation are not easily expressed in
- words. The magic enchantment of their scenic beauty lingers long after the visit

' numerous beneﬁts give joy and sometlmes even SOIMTow.

‘Rewrite the sentences rep!acmg the italicised words with the appropnate word

(a) tt was a dark, moonlit mght when the traveller ' ' _at the inn.

(had arrived, arrived) _
(b) Il call you when | home. (got, get) _ 7 |
(€ It__— all night. (has been raining, is raining) - -
(d) When | go to university, | may ____history. (studying, study) o

The first mpressmns of the Himalayas are their immensity, tnelr magniﬁcehce :

o

from the brackets.
(mundane, lair, philanthropist, scapegoat, ‘aesthetics, vrrtue nascent)

(a) Patience is seen as a behaviour showmg the high moral standards of a
©man. ‘ :

(b) They used him; he became the - person who was b!amed for the
' wrongdomgs . . :
(c) tam bored with the ordinary and dull life of the quarantrned days

(d) He became a person who loves mankmd after jomlng_B.uddhlsm. .

Fill in the blanks wrth the correct optlon from those given in the brackets

Read the passage and answer the questions given below. -
and their majesty. How awe-inspiring, beautiful and breath-taking is their

has ended- and brings back time and again a feeling of nastalgia,. of happy
moments spent there. Today, these lofty, eternally crowned, majestic white
peaks form a pearly necklace around the neck of the world's largest tableland-
the Tibetan plateau. They provide our land with the necessities of life, bestow

~(a) Identify a word from the passage that means soanng

- (b) Use the word 'bestow’ in a sentence of your own.

o ‘(:o) " What is the writer's first impression about the Hlmalayas‘?

(d) Acoordlng to the writer, what does the Himalayas offer beyond beauty'?

7 | N-2286




37.

38.

The victory of the small Greek democracy of Athens over the mighty Persian
Empire in 490 B.C. is one of the most famous events in history. Darius, king of
the Persian Empire, was furious because Athens had interceded for the other
Greek city-states in revolt against Persian domination. In anger the king sent an

“enormous army to defeat Athens. The Persian army attacked, and Greek citizens

fought bravely. The power of the mighty Persians was offset by the love that the

“Athenians had for their city. Athenians defeated the Persians in both archery and
-hand combat. Greek soldlers seized Persian ships and burned them, and the

Persians fled in terror. Herodotus, a famous historian, reports that 6, 400 Persians
died, oompared to only 192 Athenlans

(a) Identrfy a word from the passage that means mtervene on behalf of
another’. ' _ _

(b) What are the facts reported by Herodotus? |
(c) Gwe a sultable title for this passage
(d) How were the Athemans different from the Perslans?

Many great mventrons are |n1t|ally greebd with m and disbehef The
invention of the airplane was no_exception. Although many people who heard
about the first powered flight on December 17,1903 were excited and rmpressed 3
others reacted with peals of laughter. The idea of flying an aircraft was repulsrve
to some people. Such people called Wilbur and Orville anht the ‘inventors of |

- the first ﬂylng machine, impulsive fools. Negatave reactions, however, did not stop

the anhts Impelled by their deslre to succeed, they cont;nued therr _

experrments in aviation.

o (a) Use the word ndlcule in a sentence of your own.

(b) To whlch word in the passage is 'dlsgustmg closest in meaning to?

o (c) How dld people react to the idea of an airplane?

' '(d) How woufd you describe the character of the anhts?

Ty

L S (ex4=24Marks) |
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Answer any two of the following questions, .choosing“one _each __frofn any two
groups. Each carri_es 15 marks. . C - .
' -~ . - GROUPA

Read the following passage and answer the questions given below

Mount Vesuvius, a volcano located between the ancient ltalian cities of Pompeli
~and Herculaneum, has received much attention because of its frequent and
destructive eruptions. The most famous of these eruptions occurred in A.D. 79.

The volcano had been inactive for centuries. There was little warning of the
coming eruption, although one account unearthed by archaeologists says that a
hard rain and a strong wind had disturbed the celestial calm during the preceding
night. Early the next morning, the volcano poured a huge river of molten rock
down upon Herculaneum, completely burying the city and filling the harbor with
coagulated lava. ' ' o ' .

 Meanwhile, on the other side of the mon.tniain, cinders, stone and ash rained -

down on Pompeii. Sparks from the burning ash ignited the combustible rooftops
‘quickly. Large portions of the city were destroyed in the conflagration. Fire,
however, was not the only cause of destruction. Poisonous  sulfuric gases

saturated the air. These heavy gases were not buoyant in the atmosphere and
~ therefore sank toward the earth and suffocated people. ' B -

_ Over the years, excavations_df _Po_mpeii and He_r_culéneum have revealed a 'great

deal about the behavior of the volcano. By analyzing data, much as a zoologist

- dissects an animal specimen, scientists have concluded . that the eruption

changed large portions of the area’s geography. For instance, it turned the Sarno
River from its course and raised the level of-the beach along the Bay of Naples.

Meteorologists studying these events have also concluded that'Ve'quius caused

a hﬁge___tidal wave that affected the world's climate.

-In'add_itibn to making these investigatiohs, archaeologists have been éb‘le to

study the skeletons of victims by using distilled water to wash away the volcanic
ash. By strengthening the brittle bones with acrylic paint, scientists have been
able to examine the skeletons and draw conclusions about the diet and habits of
the residents. Finally, the excavations at both Pompeii and_He:gulaneum_have
yielded many examples of classical art, such as jewelry made of bronze, which is

inalloy of copper and tin. The eruption of Mount Vesuvius and its. tragic
consequences have provided everyone with a wealth of data about the effects

that volcanoes can have on the surrounding area. Today, volcanologists can

locate and predict eruptions, saving lives and preventing the destruction of other

cities and cultures.
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(1) . isa phrase in the passage whlch means unexpectedly'

(2) . is the word used in the passage for 'ﬁnd something in the
ground by dlggtng ‘ :
3) "E_ruption‘ in the passage is related to __ - R .
(a) Temper tantrum ‘ (b) rash '
{c) release of magma _(d) none of the above
(4) is a single word for an extensive fire whlch destroys a great

deal of land/property".

(5) ‘'Brittle' in the given context means
(@) Soft , (b) Tough ! 7 :
() Inflexible o (d) Fragile

(6) Use the phrase ‘great deal of in a sentence of your own.
(7) The word ————— from the passage is a synonym of ‘flammable.

(8) Pick out the antonym of ‘creation’ from the pa_ssa'ge;-

117 " o | (9) The phrase‘ : ' ___in tr;e paseage means 'fatal reeu,lts'.'

| (10) The antonym for ‘celestial is
1 Whtch phrase in the passage means 'a bqu of mformahon"? ‘
(12) The word ——————— means 'to change into eol|d or semi-solid state'.
(ﬁ3) -——-————ls a single word for able to keep afloat'. | |

(14) The word ———— |n the passage refere to ‘a- metal made up of
different metallic elements‘ ' '

(15) Make a sentence of your own wnh the word ‘yield'.
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40. Answer all the following quéstions.

“(Fill in the blanks ‘with suitable articles, prepositions, ‘conjunétions. adverbs or
adjectives) ' ' - - '

(1) schools will shortly‘ close for the Christmas holidays.
(2) Computers have been shrinking - _' size ever since the
“introduction the concept almost two centuries :

and the latest developments _ microchip manufacturing is likely
to make them even smaller. ‘ ' S

(3) 'Knocking _ ) at the gate. he demanded admission. |

(4) She was sittirig him.

(5) tam- _
(6)-- ‘John Doe, who graduafed — the UniVersity of North Carolina
" two years ago, is now doing graduate work engineering

Georgia Tech. He expects to receive his Master's degree
next June. : : . o

prepa'réd.

(7) He would make a godd- statesman than a philosopher. (Use the correct
degree of "good") : . '

r

(8) - you are mistaken.
@) He———istoblame.
(10) ————— Sunil — Anil will give an inch in an argument.

Rewrite as directed
(11) They Iaughed at him. (Use passive voice)

(12) “What have you written, Ravi?” the teacher said. (Change to Indirect
Speech) ' . - ' o

: ' (13_) Let's play by the strearrj Sneha suggesied with excitemént. (Punctuate the
~ sentence) - - o ‘

' (14) The Rose is very beautiful. Mrite as exclamatory sentence)

(1 5) Only fools have believed it. (Rewrite using 'None but’) N
' ' it ' , -~ N-2286




4.

~In the. 16" century, an age of gfeat marine and terrestrial expl '
Magellan led the first expedition to sail around the world. As a

~ service by the klng of Portugal he offered to serve the future E
. of Spain.

- found the passage they sought near 50 degrees S latitude. Mage

‘at sea, many of Magellan's men died'o

Read the passage and answer the questions given below

noble, he served the king of Portugal, but.he became involved in
political intrigue at court and lost the king's favour. After he v

A papal decree of 1493 had assigned all land in the i

50 degrees W longitude to Spain and all the land east of
Magellan offered to prove that the East Indies fell under Sp
September 20, 1519. Magellan set sail from Spain with five
year later, one of these ships was exploring the topography
search of a water route across the continent. This ship sank,
four ships searched along the southern peninsula of South A

passage the Strait of All Saints, but today it is known as the Strait of Mag
One ship deserted while in thls passage and returned to Spain, so fewer sailors

were privileged to gaze at that first panorama of the: Pacific QOcean. Those who

remained crossed the meridian now known as the lubmatlohal Date Line in the
early spring of 1521 after 98 days on fhe 3le tlmse iong days

Later, Magellan became involved in an msuiar eonﬁntin the : and was

killed in a tribal battle. Only one ship and 17 sailors under the oommandofma :

Basque navigator Elcano. survived to complete the westward journey to ‘Spain
and thus prove once and for all that the world is round, with no precipice at the
edge. . .

(1) The word expedltton in the passage is c!osest in meamng to

(a) expertise (b) flight
(c) speed o (d)  journey
(2) The phrase “offered to éerve'_' in the passage means - -
(@) workfor = . (b) liaison for -
(c) spyfor = (d) none of these B
(3) Find the word i in the passage wh|ch is the opposite of ‘d:sapproval'
(a) kindness (b)- favour :
{c) advocate o - (d) admiration o
12 ' - . N-2286
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(4) The synonym for ‘decree’ is
(@) command - (b)  summit
(c) ftabel R . {(d) none of the above

(5) Use the word passage in a sentence of your own.
(6) When did the explorers cross the International Date Line?

_' g‘i)_ The word * quagmire’ in the passage is closest in meanlng to

Tt

(@ complex S (b) hazardous

(c) desirous @ none of the above
(8)' Identify the statement which is true ‘with referenoe to the papal decree of
1493. . , A 1
N : (a) It asmgned all land in the New World east of 50 degrees W longitude to_.'
.. Portugal 1
{b) - It assigned all land in the New World west m‘ 50 degrees W longitude te
Portugal. 3

(c) 1t assugned all land in the New. Wond west of 50 degrees W longltude te:
Greece. _ _ E

(d) None of these

o 9) What :sthe Stralt efAIl Sainls now known as?
- (a) Straitof Gibraltar ()  Strait of Malacca
(c) Strait of Magellan - (d) Strait of Dover

(10) What was the fate of Magellan's men at sea?
(a) - They were filled with wonder at their dlscover
(b) Many died of starvation and dlsease
(c) None deserted the ships
(d) None of these L

(1 1) How does the author describe the 1(:".th century’?

(12) Why did Magellan offer to servethe future emperor of Splaln? -

13 _ ' - E N-22




42.

(14) How did Magellan’s end come about?

(4) Mr. Gupta disowned his son only because he wgg w

- (5) We advised him to marry off his daughter because she had

(13) What was the purpose of the journey he undertook for Spain?

(15) Suggest a suitable title for the passage.
| | ~ GROUP-B

Spot the error in the underlined sections in the followmg sentenws If there is no
error, the answer is ‘d’.

(1) _Qﬂgg_m and was quite puzzled
- (a) " (b) ‘

o see the dreadful g' 'im_ res hung on the wall. ﬂp_Emr N _
(©) @ ”

(2) Being very often ill and fr
(a I' (b)

No Error.
(d)

(3) By whom was Mr. Awgbesh §!ngh worshlgﬂ as the Gangl_'n Q{ g[mz
@ . (b) N (c)

No Error. -

(d)

-a girt he didn't_approve. No Error.
{c) @
(@) (b)

come fo marri-agéét_)le age. No error.
() (d)

14 - ~ N-2286




- (6) They did not gngy.' v why the two brothers were fighting with each other. -

(@) ® ()
No Error. |
| (d) o | o
() H.QMMMM ﬂ‘_lﬁk his _brd_ther passed away just two months beﬁre.
- @ (c)
No Error. ' o o : '
(d) _ |
" (8) Theyexdlaimed and said that they have never seen such a beautiul picture before.
@ e ©
(d) - -
© (9) This Young lady is more beautiful than neugumgr.mm Error.
@ e @ @
~ (10) He suggested that | should do all my work as quickly like him. No Error.
@ ® (@ BNCI
() I suggested that Ragini should stay the night but she does ﬁot'listen"to' me.
@ ® @
No Error. - -
- (12) Wlhilgw | was .walking i_n' the field 'gt‘ ﬁight, a snake bit me. No Errbr.
@ . @ @
s N . N-2286




* (14) Not only drinking but also smoking is a very injurious to health. No Error.

43,

* (13) They are very senior to me, so | dare not play a joke on them. No Error.

its geogmphle cal
_VaHeyowamhl'
- valley's poﬁenﬁal for emnm
" more difficult to plnpomt for lnstance T:

B "eiite and, finally, the impact of natural disasters, such as the volcanic eruptions
-of the late first millennium B C. AR

. to 200 B.C., a number of relatively small centers coexisted inal

@ ® © @

@ 6 RN @

(15) Aray of light passing through the center of a lens

No Error.

Read the passage and answer the questlons given below

Among the main factors that led to Teotlhuacén s tremendous development are
south and east of the

shrine, the historical situation in and around the Valley of Mexico to , _
of the first millennium B.C., the ingenuity and foremghtedhess of Teotihuacan's

Thls last factor is at least circumstantially |mpl|cated in Te&wacén

of Mexico. Around this time, the largest of these centers, Cuig :
affected by a volcanlc eruption, with much of its agncultural hnd ct)vered by Iava
with Cun_cuﬁco_ehrmmated as a potential _nval, Teotlhuacéﬁw;ésﬂae center that did

' ~_arise as the predominant force in the area by the first century AD.




_

It ‘seems llkely that Teotihuacan's natural resouroes-along with the city elltes
- ability to recognize their potentlal-gave the city a competitive edge over its
nelghbors The valley. like many other plaoes in Mexican and ‘Guatemalan
highlands, was nch in obsidian. The hard volcanic stone was a resource that had
" been in great demand for many years, at least since the rise of the Oimecs
(a people who ﬂounshed between 1200 and 400 B.C.), and it apparently had a
secure market. Moreover recent research on obsrdlan tools found at Olmec sites
‘has shown that some of the obsrdlan obtalned by the Olmecs originated near
Tsotlhuacan

-

"K_'Long-dlstanoe trade in obsrdran probably gave the elite residents of Teotlhuacén

| access fo a wrde vanety of exotic goods, as well as a relatively prosperous life.

~ Such succe_ss may have attracted immigrants to- 'I_'eotrhuacén It is also probable-
that as early as 200 B.C. Teotihuacan may have achieved some religious |
signifi cance and its shrine (or shrines) may have ser\red as an additional
populatlon magnet. Flnally, the growmg populatlon was probably fed by
mcreasmg the number and size of ungated ﬁelds S

The proture of Teotrhuacén that emerges is a classic. plcture of positlve feedback
_ameng obsrdlan mining and working, &'ada ‘population growth, :mgation and
- -_religaous tounsm The thriving obsmllan operatlon for example, ‘would necessitate
more miners, addmonal manufacturers of obsidian tools, and additional traders to
carry the goods to new markets. All this led to rncreased wealth, whsch in tum_
 would attract more immigrants to Teotihuacan. '
E "'('1')_"The word "tremendous' in the passage is closest in meaning o
(a) extraneous o (b) entity
..(d) . great scale .

{c) dread

v -  N-2286




)

(3)

(4)

(8)

(6)

@

@

~ (a) transfer = (b) relate
(c) narrate : (d) idéntify

. Find the word in the passage Wthh is the opposute of 'small
(a) extensive | (b) labour
(c) minimum @ agriculture

The phrase 'difficult to pinpoint’ in the passage can rﬁean giff

The Synonym' for ‘significance’ is o
(a) unanimous : ~ (b) excellent
(c) important (d) none of the above

The word ‘ingehuity' in the passage is closest in meaning to
(a) creativity - (b) assertion
(c) analyse - (d) none of the above

Use the word 'foresightedness’ in a sentence of your own.

The word 'exofic' in the passage is closet in meanmg to .
(@) natural (b) foreign '

(¢) unbelievable (d) none of the above
Identify the statement which is true

- (a) Teotihuacan had no economic signiﬁcénce

©

(dy A people who ﬂounshed between 1200 and 400 B.C..

(a) The people of Teotlhuacén

{b) Teotihuacén had no religious significance
(c) Teotihuacan had religious significance
(d) None of these ' |

Who were the Olmecs?

(b) Those from Cuicuilco

(c) Those from Brazil -

18




(10) What are the main factofs that' led to Teotihnaeén's'-de_velept_'nent? _
(11 ) What gave the clty advantage over |ts nelghbours'? |
| (1 2) How did the fall of Cmcualoo effect Teotihuacan?
\ (13) Why were |mm|grants attracted to Teotthuacan'? |
o (1’4} What is the mpressuon that one reeelves of Teotlhuacén’?
(1 5) Suggest a suitable t}tte for the passage ‘

_44. Answer all of the fottowmg questlons Filt in the blanks with suitable artlcles
i prepasmons, conjunm adverbsoradjectwes .

?

- ;-fwm aochs are
Do we have

peanut butter? -

You can't count ——--—— his help.

4) | stroked the cat —

__ the black dress — the gray one looks right on me.
| read the first few pages of a book before | buy it

(?) - itsyour hi'rthd,ay, | will buy you a gift.

8 David cormes - Bryan in the fine, but  louise.

B )] Jim was walking _— the campus noon when he
~ meta fnend whom he had not seen - summer They stopped .
the gymnasmm N - .

| (10) Mr. Hill arrived in New York - - May 10 —————— eight
- o'clock - the evenmg He decuded to call on his uncle who lived 9
Fifth Avenue. ' B

19 o : - 'I\i-_-—l2-286-.f'_:_'___;:'{_




. _(1_5) Galileo

s

Rewrite as directed )

(11) He was made adm:ral by them. (Change to Actlve voice) -

- (12) Rahul sard to Deepa “Will you be gomg_te'sch_ool today?". (Change into

lndlrect speech)

(13) Shu_t the door. (Change to Passive voice)

(14) Priya told me that [ should keepin mmd that tha weamer was very cold and , -,

to dress accordingly. (Change info dlrect speech)

that the earth moves round the sun. (U_se the correct
verb form of * malntarn D) - S : e
| (2 x 15 = 30 Marks)
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SECTION A

Very short answer type (1 sentence to Maxlmum of 2 sentences)

. Each questlon carries 1 mark .
What do you mean by limited liability partner_shlp? -[ '
~ What do you mean by dissolution? -
‘What is over riding commnssnon? .
When will you follow the memorandum method under ;omt venture‘?
~ Whatdo you mean by debtors system under_bran_c_h accounting? -

How can you'réoord depreciation on brar_:ch .assets?

P.TO.




10.

11.
12.
13.
14.
- 15.
6.

17.
18.
19.
20.

21,
22.
23,

What is an independent branch?

‘What is departmental accountmg'?

‘What is the journal entry to record the transfer of goods from one department to E

another?

‘Whatis wholesale branch’?

A When will a branch keep a separate system of acoountlng'?

(10 x 1 = 10 Marks)
'SECTION - B

Short answer type (Not to exeeed 1 paragraph) Answer any elght questlons

E_ach Quest_ton m952 marks.

‘Why is departmental accounting needed?

How instalment system is useful?-
What is Stock and Debtor's system?

What is meant by hire purchase?

What is ‘Net hire purchase charges 7

Whlch statement is to be prepared by the branch that ts allowed to sell only for
cash? - . _

What is ’rn_emeranddm stock account?

‘What is realisation account?

What do you mean by piece meal distrit_)ution? o |
What is del credere commlssmn’? o '

How can you treat the goodwill taken over by a partner on dlssolutlon‘?

'How can you transfer the balence in realleauon account?

;e N - 2702




24,
25.

26.

27,
28.
29.
30.
31.
32,
33.

How can you treat branch debtor’s account?

How can you treat abr_lormal loss on consignment?

What is Proforma Invnicé? _
| (Bx2= 16 Marks)
SECTION-C -
Short.Essa'y type (Not to exceed 120 words) Ans.wer‘any six duestions.

- - Each quest:on cames 4 marks. 7 |

Drseuss Gamer Vs Murray Rule.

Distinguish C:onswgnment and sales.

What is Loss in tfanSIt?

Write noh on dspendent branch :
Discuss the steps to incorporate the branch trial balance in the head office book. .
D:ﬁerantiah dopartmental accountlng and branch accounting.

Mumbai branch tansfers goods worth Rs 50, 000/- to the Kerala branch with the
permission of the head office. Pass joumal entnes in the books of all the partles ‘

concerned. :
P,Qand R are partners whose Balance sheet was as follows
Liabilites =~ Amount - Assets Amount :
Creditors = 50,000 Bank 500
P's Loan 10,000 Debtors - 10,000
Capital - P 8,000 Stock - o . 8,000
 Capital-Q 5,000 Machinery N ) 20,000
: :  Fumiture 8,000
Land and Building 20,000
Q's Capital 6,500
73000 73,000

3 - N-2702




35.

ar.

38,

39.
40.

41.

' The assets are realised as follows:

. Stock Rs.5,000/-, Machinery' Rs.10,000/-, Furniture Rs.2,000/-, Land and -

Building Rs.8,000/-, Debtors Rs 5,500/~ Reahsauon Expenses Rs. 500!— Prepare
Realisation account

Department A transferred goods at a price 50% -above ‘cost to Dept. B. If closing
stock of Dept. B is Rs.27,000, Compute the amount of stock reserve.

Raja sent 50 pteces of fancy goods to Kozhlkode on Wthh the con3|gnee
receive 5% oommnssron plus expense. The costs of goods were Rs.40 per piece. -
The consignor paid Rs.150/- for transportlng the goods and the consignee. paid

. Rs.150/- for taking delivery of the goods. It was reported that the whole
- consignment was sold for Rs.3,000/- Prepare oon5|gnment account. -

A and B were partners ina jomt venture shanng prof't in the ratio of 41 :
A supplies goods worth Rs.5,000/- by incurring an expense of Rs.400/-.
B supplies goods worth Rs.4,000/- and his ahw\se amounts to Rs. .300/-. B sells
goods on behalf of the joint venture and realises Rs. 12,000/-. B is entitled to a
commission of 5% on sales. B settles his aoootmt by bank draft. Prepare joint

: venture account in the books of A.

How will you value unsol‘d stock in C.ons_ign:rnea'r_t"?‘_r E |
- (6x4=24 Marks)
SECTION-D -

Answer any two. Each question cames 15 .merits..
'Analyse the features' and advantages of Departrnental.accounting._
DISCUSS the features of dlfferent types of branoh aocountlng |

Deﬁne joint venture and analyse its - dlstlnotlons from partnershlp and_
Consrgnment : : '
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42, From the follow:ng details, prepare necessary accounts showmg final settlement

on the dlssolutlon of the frm ‘

- Ltabtt@es Amount -~ Assets o Amount
Creditors 62,500 Building 50,000
Capital A 37,500 Stock 50,000
B . 25000 Debtors 40,000
e o 7,500 Bank . 5000

D ' 12500 , o
' ' 1,45,000 = 145000
D was a’ minor with a nght to get 1/5 th share in the proﬁt and the remaining -
partners share the balance in equal ratio. The capital account of D represent

undrawn profit. The profit drawn by him and lying his bank account amounts to
Rs.18,750/-. The firm had taken out a policy on the life of A, the paid up value of

which is 37,500/~ on which the surrender value is Rs.25,000/-. The firm is o

dissolved due to technical reason and the assets were realised as follows:

Building 25% less, stock at 80%, Debtors 20% less. Sundry creditors allowed a '

discount averaging 8% and A took over his policy at the surrender value.
Compensation to workers totalled Rs.50,000/- and the expenses amounted to -
Rs.24,500/-. A bought in necessary cash to affect the payments. C is insolvent,
his estate mﬁsed 40% of what is due by him. Apply Gamer Vs Murray rule.

43. A ﬂrm had two departments — cloth and ready-made dress. The Readymade
dresses were made by the firm itself out of cloth supplied by the cloth
department ‘at its usual selling price. From the following details, prepare
me Trading and Prot‘taand Loss account. _ ‘

i Part:culars o Cloth Dept. Ready—made Dept.
Opening stock 3,000000 50,000
Purchases 20,00,000{ - 15,000
|Sales - 22,00,000 - 4,50,000
Transferto ready made | 3,000000 ,
Manufacturing Expenses | |~ 60,000
Selling Expenses 20,000| ' 6,000
Closmg Stock 2, 00 000} : 60,000

S‘tedt in the ready-made department may be oonS|dered as con5|st|ng 75% cloth -
md 25% other expenses. The cloth department earned gross profit at the ratio of
15%. Generai expense of business asa whole |s amounted to Rs.1, 10 000/-

s  N-2702




44, On 1"’t April 2020 Swasttc Oil mill conmgned 10, 000 Kg of oil to Mr Das of
Kozhikode costing Rs.20/- per Kg by meeting freight charge and insurance of
Rs.5,000/- During transit about 250 Kg of oil were accidentally destroyed for
which the insurance company paid Rs.4 500/- to the consignor in full settlement.
Das took delivery-of the consignment on 1 0™ April. And he reported that. 7,500 Kg
of the oil were sold at Rs.30/- per Kg and he paid godown rent Rs.2, 000/- and
advertisement Rs. 10,000/~ and salary Rs.20,000/-. Das is entitled to get 3%
commission and 1.5% del credere commission. A party who had bought 1000 Kg
was able to pay only 80% of the amount due. Das also reported that a loss of
100 Kg of oil due to Ieakage Das paid the amount by way of bank draft. Prepare_ '

necessary accounts in the books of both the parhes _

,(2 x15= 30 Marks)
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SECTICN -A

Max. Marks : 80 _'

Answer all guestions in one word or to a maximum of two sentences each. Each
question carries 1 mark. :

© ® N O o s N =

-
o

Define management .
What do you understand by open system'?

~ What s planning? -

What do you mean by decentralisation of authonty?

‘Whatis ]ob description?

What do you understand by chansmatlc Ieadershlp’?

 Whatis motlvatlon'? '
* Define communication. B
What is Total Quality Management?

What do you mean by a leaming organisation_?-

(10 x 1 = 10 Marks)

P.T.O.




SECTION - B .

Answer any eight questions in not exceeding one paragraph each. _Each'questien
carries 2 marks. ' o

1.
12.
13
14,
15.

16.

17.
0.
20.
21,
22,
23,
24.
25.

26.

“Management is the art of gettmg things done Explam

: Give a short note on styles of management.

Bneﬂy explain the partrcrpatnve style leadership.
Write a short note on Human Relations School

What are the Ilmitatlons of Quantltatwe School’?

‘Ptanmng is looking forward, controlllng is Iooklng back" Elucidate this-‘ .'

statement

Give a short note on accountability.

Distinguish between authority and accountability.

What are the factors affectihg decentralisation?
What is organisational culture‘?
What do you understand by transactional Ieadershap'?

What are physiological needs?

: Enumerat'e the 7 C's of oommunicatioh

What are the limitations of mformal oommunlcatlon'?

What are the features of a learning orgamsatlon'?

What is the importance of knowledge managem'ent?-

(8 x 2 = 16 Marks)
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SECTION ~C
Answer any six questions in about 120 words each. Each question carries 4 marks.
27. What are the features of Humén Relations School?

28. Explain the oontnbutlons of Peter F. Drucker to the contemporary management
“thought. : , :

29. What are the merits of Beha\noural School')
30. I'What are the Iumtatlons of Classical School?
3. Explaln the concept of Managenai Grid.
;32. _ Explam the steps lnvolved in controlilng process of management
33. What are the quaktles essential for a successful lead.el’?
34, Exblain thé different typg#.of'legders.
35, Write short notes on the following: '
(a). Negative motivation R
(b)'r Paositive mofivéti_on
_ (¢) Extrinsic motivation |
(d) Intrinsic :_ﬁotivéﬁdﬁ |
°36. ',What are the adVaﬁtages of .oral oomfnuniéatiqn? _
37; Diéstinguish. between formal Vcomrn‘unication énd informal oommuhigatién; -
38. Enutner_aute Deming's 1-'4'point5 on Quality Manégement._ _ |

(6 x 4 =24 Marks)
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'SECTION — D -

Answer any two questnons in not exceedlng 4 pages each Each questlon carries -
15 marks.

39.
40,
41.
42

43.

Discuss Mschael Porter's ‘ﬁve forces analys:s

: Dlscuss in detatl the steps mvolved in stafﬁng process.

Eludda*e Fidder‘s-Leadershlp Contlngency Model.
Dlscuss in detaul the process of oornmumcatlon

Dlscuss the barriers to lmplement TQM In orgamsatlons.
What is change management? Discuss the neasons for employees reStstance to

change
(2x 15=30 Marks)
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‘Third Semester B.Com. Degree Exami.nation, March 2022
Career Related First Degree Programme under CBCSS
Psychology

_ COmplementary Course for Commerce and Tourlsm and Travel
- Management) '

| PG 1331 ‘I PERSONALITY DEVELOPMENT
(2020 Mmlsslon) o
‘Time.: 3 Hours _ : ‘ | - B Max. Marks : 80
| 'SECTION - A
‘I Fill ia the blaeks Anewel; ell qués'tions Ea\ch carries 1 mad<

.1, ——————is a general term used to refer to how someone thinks about,
~ evaluates or peroewes themselves

2. - —_— isa philosophical movement that emphasizes the personal worth
of the mdmdual and the centrality of human values.

3. —— are relahvely endunng _perso_nal characteristics which inﬂuen_ee
behaviour. , : : ' I

4, __.._'__;__ is most often defined as the ablhty to percelve use, understand
- manage, and handle emotions. :

5. The concept of psychologlcal well—bemg is based on ——— perspective of
_ psychology .

(5 x1="5marks)
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il. beﬁné the following. Each question carries,.'t.rﬁark.
6. CompassiOnaté erﬁpathy

7. Gratitude

8. Ego

| 9. Creativity

_ 10. Autotelic.

(5x1= 5 Marks)

SECTION-B_

Answer any eight of the following. Each carﬁes 2 marks. The answer should not
exceed 1 paragraph. ‘ ‘

11. Hope. _
12. Critical thinking skills.
13. Eudaimdnic happinesé., 4
14. Existehfial self:
15. TAT.
~16. How to create flow experiences in physical activ_itie_é? -
17. Write a note on eff_ective_cbmmunication skill.
B 18. Effect opﬁr_nism a.nd hope on I_'ae_zalth-. |
19. Persori'_centéred therapy.
20. Different states of self-awaréness. o
21. 'Practical application of SWOT analysis. |

2 . . N-2852




22,
23,
24,
25.
26.

B Creativehwriﬁng. '

Vicarious reinftggement. .
Subjectlve well-beha
Interpersonal skill as aﬁe Skill

Unrealistic optlmlsm. _ e
e (ax2=16Marks)

Answer any six of the followmg Each cames 4 miarks. The answer should not exceed “
120 words. :

o7
. 28.
29.
30.
31_.'

32.
33.
34,
35.
36.
37.
38.

Briefly describe the deve!eprnent of hope. | _

What are the Qiﬂetent aspeets of coping and management skills?
Marriage and happiness Comment. o

Projectlve techmques of personahty assessment

Bneﬂy describe the charactenshcs of people with healthy and unhealthy self _
esteem

Theme Centered Interaction (TCI)

Wrrte a note on positive illusions.

Key elements of empathy.

Culture and _happiness. |

Describe the_'obser\v'ational learning process.
Write a note on coping with emotions.

What is self-esteem? Methods to measure self-esteem. : '
_ - i ' - (6 x4 =24 marks)
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SECTION-D
‘Write an eesay on any two of the follqwing. Eacncarri_e,_‘s 15 rnarfcls.'_ :
39. Discuss Maslow’s perspectives on personality.
40. Bﬁeﬁy descﬁbe about flow experiences. |
41. Elucidate the concept of Personality exptalned by Slgmund Freud.
42, leferentlate vnth people who are havmg optlmisttc and pessnmistlc approach
43. Explain the eoncept of happlness

44, Briefly explain the top ten life skllls pn:posed by WHO with a practlcal appllcatlon
sutuation on how to ‘impart each skill in your educational setung

© (2x15=30Marks)

s | N-2852




'Reg. ! N'o

‘Name : ,. .....
'l'hlrd Semester B. Com Degree Exammation, Mareh 2022
Mr Related Flrst Degree Programmo mcacss
mz(a) (:ommerce and Tounsm and Tmel Management
Vocatlonal Course IV
'I'T 1372 TOURISM REGUL-ATIONS
(201 9 and 2020 Mmisslon)

’ije:SHOQFS . 7 : B . ' --Max.MarksfS_O_—'_

| SECTION-A -

- Answer all ten queshons |n not exceeding 1-2 sentences each. Each question carries o

"1mark g ' o o
1. Deﬁsne Passport.

2 Expand 'KTDC |

3. What do you mean by VISA?.

4.. In wh;ch year the breach of contract Act was promuigated‘?

5. Expand clo.

- 6. Name the organization whlch discharge the responsnblhty of oonservaﬂon of

* monuments and documentary hentage o

7. Inwhich ye'ar Air Corporation_Act has passed in the Indian Parhament?

o -

 Expand CPV.

P.T.0. .




9. Whatis POE? | _
10. Whatis Official Passport?
| | -_4(1-p->.<'-1=1_0.Mark's)‘ ‘
SECTION;‘-'_B. | |

Answer any elght questlons in not exceedmg one paragraph each Each questlon
'cames 2 marks - _

1. ‘What do you mean by "fautt_-oriented". risk?

_ 1 2. What do you mean by Haritage Consar;iaﬁon. area?
13, w'hat 'is'Kaie'idosé,opic? ” |

14. ; What do you mean by Restncted Area Penmt’?

15. Identtfy the two Iaws relatmg to Hotels and Food and Beverage Busmess

16. Who are ehglble to apply under Overseas Citizen of India scheme? -

7. What is ECR (Ermgrat:on Check Reqmred)'? |

18. What do you mean by VISA on Amval‘?

'19. List out the Dangerous Goods whtch cannot be camed in the aircraft whlle
travellmg : . , . :

20. Whatis Diplomatic Paaspon?"_ 7

21 . What are the _Ch'annels of Clearance from Airports?

2. What 'do.you' mean by cr Fo_nh in aocomrhodation unifs? :
o 23. What are the norms,foh th&fmport of Indian Cun'gncy? _
24. Listtheitems a ‘Tourist-‘ of Foreign Origin can bnng togindia.

2. - N-2858




i 31 Wﬁbmmwfam&ﬁmm%ssport

Coar ‘Write the |mportance of Health insummel

25, What is meant by Inbound Tounst‘?

26 List out some emnmnmental protectlon atﬁ;zmemat:on acts mtroduced by
India e ‘

 (8x2=16Marks)

' SECTlON C

L B

Answer any six questlons in not emsedmg 120 words (short essay) each Each
question carries 4 marks :

- 27, List out the: p:mhgesobhined by a travel agency after gethng the reoogmt!on of
o Gavemm& Ind'ia : :

28. "Delail about Ihe dut:es of Keeper of Sarais. .
29. ‘ What are the pre-requ:sntes to quahfy fora travd wt’s hcense?

" 20, Detail the functions of Ministry uf'roumg;.

32, Explam about the Tounsm Conservaﬁon md, rese rvati

' '_,,,,Act1998

33. Wnte about the 1mpact of COVID 19 to !ndlan Health Regulatlon ln mtemational o
' tzavel -

34. Wnte about the |mportanoe of Iaws related to Accommodatlon and Catenng '

35, Write a short noté on Téﬁrism Poiioe and its impoéténoe.

36. Idenhfy the role of DTPC in pmmotmg tourhm in the dlstnct

38. DISCUSS about the lmportant Travel DMmedad for lntematlonal Travel

R (6x4= = 24 Marks)
3 ' - N-2854




~ SECTION '-j'D_ |

Answer any two questlons in not exceedlng 4 pages (long essay) each. Each _
question carries 15 marks. _ :

39.
40

4.

42,

43.

Explain the 'procedures for getting Passport in .I'ndia.
Write in detail on Forelgn Exchange Regulatlon Act 1973

Write about the currency regulatlon a Forelgn Tounst should follow when he

_ oomes to India

 Detail about the Law of anthu:tles

Explain about the Environmental Protection Act, 1986 in Indaa

) Expialn the guudellnes for reoognltlon as approved Tour Operator.'_

(2 x 15 30 Marks)
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Time:3Hours | o S fMéx.IMar.ks:-_B_IO

B PART — A (Very Short Answer Quesuon) - o

(One word to maximum of one sentence Answer aII quest:ons Eachquestlon carries
1 mark). . . _

1. What |s.domestfetoUrism'?_ o - o _‘ o S D
2 'Wha_tr_isc‘:uisirl'le‘?- | |
3. | What is Press cohf_ereﬁ_ce?
| 4. What is Experiential eult&rel tourism product?

5. Whatis Religious tourism? -

6. What are Tourism Products?

N

‘What is Tourism Trade Fairs?

P.T.O.




8.  What is tourism f'est!.v.al?

9. "What is Kerala trévél marf?_ '
: 10. List any two kinds of publicity. _
| (10x1=10 Ma_rksj- o

PART B (Short Answer)

(Not to exceeding one paragraph Answer any eight questlons Each qUeshon carnes
2 marks) '

1. wnq is merchandising?

12, What is-'pefsoﬁal selling? |

13. _Whaf is ‘Push strategy? ’

14. Whatis price discrimination?
.15. List_twofeatures ofagood. |

16. What s Historical t@urisni products?
47, Whatis the"Marke'ting Conce.pt?‘-':_, '
18, Whatis distribution channel Ito'prisﬁ? i
19. What is nlche marketlng? A. |

20 Explaln the tenn Place in marketing mix.
21 :What is a poster'?

22. Whatis social media?

23 Expand SATTE.




24. What IS Travel Agency'? |

25. Explaln the lmportance of festwa! in tourism. promotlon

26. What i is Rela_tlonsh_rp marketing? o

R - (Bx2=16Marks)
PART C (Short essay)

(Not to exoeed 120 words answer any six quesbons Each questlon carries 4 marks) ,

27, Explainthe mportance of Destlnatlon marketing. |

28. Explam the F‘roduct Conoept in tounsm marketlng

29. ma Distribution in marketing?

' 3@ : E:@lﬁlme elements of festivals. |

31. Explam the STP process in tourism markehng

32 Explain the steps tr_wolved in prepar_:ng a poster

33, Lxst the varioos tools of ‘ou‘blic relations.

34. Explﬁntdmarécteristic 'lnseparabiﬁtyoftooriem products.

| - 35. Explaln d'namchenshc penshabtllty of tourism products

36. Explam the Development Stage of tounsm product life cycle

37. List any four effeotwe Marketlng Strategles adopted by Tour and A.chvrty
Operators.

38, Explain the mvmm Sfage-of fourism product life cycle.
' | | (6 x 4 = 24 Marks)
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PART —D (Long ;.essay)'_

(Anéwer any two questlons Each question carries 15 mazks)

39.

40.
41.
42,

43.

Discuss the _|mportance and relevance of famillanzatton tours in tounsm

‘marketing.-

, Discuss the nature and charactedstlcs of a tounsm product

Diswss the vamus cntena usediqr pmmeﬁng festlvals as tounst attmotlons. _

Explam the factors to be md whﬂudedgmng tourism product

mmmthmuMmdmmMm
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